C:h |dentify Linear Functions (Table)

Name:
Determineif the table shown representsa linear function (yes) or not (no). Answers

D | v=7"+4 2) | Y=-Xx9 3) | y=-x2
x| Y XY x|y L
-10 4 -3 27 -1 -1
-3 | 4.003 -9 81 -71-49 2.
-6 | 0.080 0| O -91-81
3| 347 3 |-27 > 2 3,
7 823,547 8 |-72 7 |-49

4.
5.

4 X 5 = 6 =_X-

) | y= - ) | Y=-X ) | Y=-X-5 A
- - XY XY '
1]-0571 oL 213
-2 -1'143 610 =109 ’
-3 -1.714 919 11
10571 3 -3 72 0

: 5]-5 -8 3
2| 1143 9.
10.
7) | Y=3xX-(Xx-1) 8) |Y=X+5 9 |y=n/X8
11.
X Y XY X1 v
-2 -8 114 10| 1.414 1
S | -2 411 8 | 0.000 '
-6 -24 -8 -3 9 | 1.000
-7 -28 9| -4
9 36 5110
10 X 11 —y2 12 =6-

) [v=1%, ) [r=xs ) [reex
< v XY
AR 5119 -4110
715250 0]-6 S
= 2| -2 3|3
-8 5
1(7.250 > | 19 AR

: 9|75 7]-1
4| 8
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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C:h |dentify Linear Functions (Table)

Name. Answer Key
Determineif the table shown representsa linear function (yes) or not (no). Answers
1) Y=7"+4 2) | Y=-Xx9 3 | y=-x> no
x| Y XY x|y L
B 3| 27 1] -1
-3 | 4.003 9|81 71 -49 2. yes
-6 | 0.080 0| O -91-81
3| 347 3 |-27 5| a 3 no
7 | 823,547 8 |-72 7 |-49
4, y€Es
5, YES
4) X 5 |Y=-X 6) |Y=-X-5
Y="/7x4
- :( x[v XY 6 yes
1]-0571 oL 213
-2 -1'143 610 =109 ’ =
-3 -1.714 919 11
{057 AR 71 ’ =
: 5|-5 -8 3
2| 1143 9 no
10. YES
7) | Y=3xX-(Xx-1) 8) |Y=X+5 9 |y=n/X8
11. no
X Y XY x|y
-2 -8 1] 4
10| 1.414 . yes
S | -2 411 8 | 0.000
-6 -24 -8 -3 9 | 1.000
7 | -28 9| -4
9 36 5110
10 X 11 —y2 12 =6-
) [v=r%, ) [y=xe b [
< v XY
AR 5119 -4 10
= 5,250 0]-6 S
= 2| -2 3|3
-8 5
1(7.250 > | 19 > |1
: 9|75 7]-1
4 8
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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